IMAOC

BJ747 SPRING SUPPORTS

m
\
*C PAD Spring
Steel(S45C) | Steel (SWPA)
Black oxide | Quenched and tempered
finish Black oxide finish
Part Number | A B c D WZS’“
BJ747-06001 14 18-26 6.5 | M4X0.7 10
BJ747-08001 16 19-29 8.5 M4X0.7 15
BJ747-10001 20 25-40 10.5 M4X0.7 30
BJ747-12001 25 30-46 13 M4x0.7 43
BJ747-16001 28 35-50 16.5 | M5X0.8 53
BJ747-20001 32 40-63 20.5 M5X0.8 75
BJ747-24001 40 51-71 24.5 M5X0.8 150
Application Example
BJ739
Nut Spherical Flange Assemblies
BJ153

i ! Tapped Taper-
0] Nose Strap

BJ746

Socket Toggle
Screw




